MEx20 - 4k
orginal V

M12x30 - &ks
M12x110 - 8ks
MI12x70 - 2ks (A)
M12x70 - 2ks (1.C)

MI12x19 - 3ks (C)
M12x21 - Tks (C)

Mé = dks FFP& - 4ks
M12 - 16ks (A, I) PP12- 1éks (A, ) P13 - Bks
M12 - 14ks (C) - PP12 - 18ks (C)

MI12x19 - 3ks
M12x21 - Tks

VW CRAFTER, MAN TGE
AlC 250 24 1 Kod: VOB55(A.LC) 25, 10. 2017




